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p.5, 3rd paragraph: 	the deep ocean temperature is about 2oC and not 4oC.





p.16, Eq. (1.7):  	r2 under second square root should be r2.





p.50, Eq. (1.56):   	should be multiplication 'x' in the numerator rather that '+'.





p.92 and p.525:  	"Sommerfeld-Weil" should be "Sommerfeld-Weyl."





p.104, Eq (2.130):  	e^(–p /4) should be e^(–ip/4).





p.105, Fig. 2.13:   	‘x’ should be replaced by ‘r’ in two places.





p.109, Eq. (2.136):	we should not have the (–1)^m term.  Instead we should have:


			z_{m1} = 2Dm – z_s + z


			z_{m4} = 2D(m+1) + z_s – z.





p.123, Eq. (2.165): 	r_2 should go to –r_2 and S_{w} should go to iS_{w}.





p.123, Eq. (2.166):	det = –2 [ ...] should be det = –2 i [ ... ].





p.141, Eq. (2.209):	a factor of 2 is missing on the A'(z) f'(z) term.





p.145, Eq. (A2.5):	r(r’) should be replaced by r^{–1}(r’) within square brackets.





p.146, line 6:	the Dirichlet (h=() and Neumann (h=0) BCs have been inverted.





p.166, Eq. (3.49):	there is a sign error on ‘i.’ Should read ((i)^m(s).





p.169, Eq. (3.56): 	under the square root it should read  –2/{w Im[p(s)/q(s)]}.





p.186, Eq. (3.137):  the sign under the square root should be '–',


                                  i.e. sqrt{1 – a^2 c^2} and the denominator should read 'ac'.





p.234, Eqs. (4.100) and (4.108):


	the sign on the three exponentials should be e^{+i…..}.





p.238, Eq. (4.104):	‘G’ in the last term should be ‘g’.





p.243 last paragraph directly under "Krenk" ... :


             	"course wavenumber grid" should be "coarse wavenumber grid."





p.259, Fig. 4.19:	w/c_s should be w/c_w.  Also, the last line of the caption should read: ….wavenumbers for compressional waves in ice and in water.  Furthermore, the numerical value for k_r in line 3 should be 0.0874.





p.276, Eqs. (5.26), (5.29) and (5.30):


	Properly, the write-up on the line source should use e^{ik|x|} 		i.e., include absolute value sign on x.





p.277, Eq. (5.30):  	the phase factor in front of the summation has a sign error. It should read  e^{–i(k_0 – p /4)}.





p.282, Eq. (5.50): 	the formula should read...  Const [S_{m} A_m^2 


           		+ S_m S_{n>m} 2 A_m A_n cos( k_m – k_n ) r].





p.286, Eq. (5.67):  	a factor 2p is missing in the denominator.





p.302, Eq. (5.112): 	each of the k^2_{z} terms should be divided by 12 so that there 


	is a {1 10 1}/12 average of the points.





p.306, Eq. (5.125):	the rhs should be the negative of what it is now. 





p.480, Eqs. (8.8)-(8.10) + (8.17):


	replace Dw by Dw/2p on the rhs of each equation.





p.488, Eq. (8.38):  	on the lhs in square brackets, the partial derivative wrt t 


	should be wrt r, i.e. D_t  – c_0 (/(r.





p.514, Eq. (8.59):	the second term in the argument to the Bessel function should


	be omited, i.e. we should only have J_0(k_r  r_0).





p.519, Eq. (9.4): 	in the integrand, the g* argument should have z_{2},  not z_{1}.
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